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A LI [ #b 36 48 84 38
o R i 136 154 290 102
] 29 16 45 19
HEVYTEM 278 300 578 225
7N TR [ 3 29 31 60 24
A EYrE M 164 179 343 141
ElR K 127 111 238 85
SDOE4 M 131 128 259 90
HEY X 127 159 286 119
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REE 81 79 160 66
NE 132 155 287 133
ANEILH 50 66 116 44
Byl 172 194 366 125
IR 164 159 323 94
N 150 158 308 86
ik =954 20 23 43 15
FER 42 47 89 25
BEs 165 158 323 111
RHEA 139 146 285 118
T 76 86 162 43
tiE 52 52 104 26
BKYVE 26 29 55 15
e E 64 52 116 37
REE 38 36 74 29
p=pr 43 32 75 18
=T 23 25 48 20
HEEIX 307 315 622 226
HERE2X 200 201 401 146
HREIX 174 182 356 126
A RE4X 81 82 163 65
M RTESX 78 97 175 59
M RTE6X 32 39 71 36
HMRETX 69 70 139 49
ko B #h 105 110 215 75
K 234 275 509 168
& 390 455 845 277
il 40 36 76 26
Lol 32 27 59 24
FKR 36 26 62 20
ZFiFM 19 23 42 16
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